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Section : Domain Knowledge

Q.1 W gQ aTeie &1 SRR ______ g1 FAife foman st 1
Ans X" 1. wTefeh & Qehel YR & cTg

o 2. = & s e & g
75 3. Frereh & SR & e
/X 4. =reTe h wiard

Question ID : 2752281327
Status : Answered
Chosen Option : 2

Q.2 uRaw+ (winding) & I (varnish) T 32T T &2
Ans o 1 oR@ea (winding) & e ToTent @ soT

X 2. Jrafdes FAT G S
7% 3. uRaes (winding) st ol siehg &R @
/X 4. gifeh g & g

Question ID : 2752281261
Status : Answered
Chosen Option : 1

S

Q.3 The type of speed control preferred for applications where unusually wide and very
sensitive speed control is required will be the

Ans X 1. applied voltage control

X 2. shunt field control
“ 3. Ward-Leonard control

X 4. armature control

Question ID : 2752281347
Status : Answered
Chosen Option : 2




Q.4 goff &= usR & uwarades 9 fFrfa Frafaf@a 3 @ e v @ foar srar @2

Ans X" 1. gofes (rotar)
J 2. [¥=e (stator)

x 3. & i (field terminals)
/X 4. amasre (exciter)

Question ID : 2752281237
Status : Answered
Chosen Option : 3

Q.5 o REar emats & udeor A fAfy & wf srpfa  Rard i &1 afk
gl

, dl TS 3T

Ans x 1. G UTeieh SRTeR &
< 2. 2wt 3= &
VSAUmwﬁiﬂﬁﬁHSﬁ?@ﬂﬁiﬂﬁﬁg
75 4. < urei e &

Question ID : 2752281321
Status : Answered
Chosen Option : 3

-

Q.6 JUHTOT T ¥-HUh (earthing) SUFRUT &Y ____ & Famen 81
Ans J 1. &RT 9RT (leakage current)

x 2. u&Ig= 3mend (lighting strokes)

x 3. 9iS dteedT (breakdown'voltage)

x 4. gfaremiter gfg dleedr (operational surge voltages)

Question ID : 2752281318
Status : Answered
Chosen Option : 4

= —~—

Q.7 fa=fafEa d 9 fora Sueheur a1 RIGid Tehel-thet URUT UehR & SHeitaTd & A gidr 82
Ans  QagP, T Bt SRoT HleR

X 2 e @

25 3. i greehamdh

£ 4. i ot e

Question ID : 2752281210
Status : Answered
Chosen Option : 2




Q.8 fm=faf@e smepfa gafyfta ther ufkdes (simplex lap winding) & g21fdt &1 spfa d X F wu &
Zfq Tq T A T FEd 82

ix_"':ﬂ"l E-E?-FZ

Ans

v . ofyurmdT 3/aTer (resultant pitch) (YR)

X 2 958 I (back pitch) (Yp)

X s FATAEATF T (commutator pitch) (Ye)
X 4. FFA® AT (front pitch) (V)

Question ID : 2752281257
Status : Answered
Chosen Option : 2

Q.9 One BOT unit is equal to .
Ans J 1. 1000 watt-hours

x 2.1200 watt-hours
X 3. 1500 watt-hours

x 4.746 watt-hours

Question ID : 2752281212
Status : Answered
Chosen Option : 4

Q.10 Why is an armature core laminated?

Ans X 1. To reduce the weight
J 2. To reduce theleddy current loss
X 3. To reduce the hysteresis loss

x 4. Toreduce the cost price

Question ID : 2752281334
Status : Answered
Chosen Option : 2




Q.11 3-thet HoitaTdt # + 1.25% Ft F &1 59 Hiex & Aremw & g 7 & forg e swif @u« 1600
gfAe g1 RuiRa &R 6 fer 3 arafaes @ua 9 e gfae fdw/ama & g

Ans X" 1.103fe
/< 2. 40gfe
X 3.1.257fe
o 4. 203fe

Question ID : 2752281211
Status : Answered
Chosen Option : 4

Q.12 af smgfef gieear 'V 10 V & 3R IRfork (inductive) Fraeft (V) & ateear 8 V &, at ateesiex (Vg)
ZRT 22T S areft Sieear Y aen frat ghft?

Ans X" 118V
W26V
X 310V
X a2v

Question ID : 2752281307
Status : Not Answered
Chosen Option : --

Q.13 afE =@ siavre (front pitch) (Yg) g8 siarret (back pitch) (Yg) @ &# 8, at uRde=T (winding)
& UhR &l hgl SITdT 21

Ans X 1. gsm SR (retrogressive lap) (a) SR aRae (wave winding)
X 2. gafesfia o (simplex lap) (a1) a¥ffia uRae= (wave winding)
75 3. fZfora g1 (duplex lap) (am) &R uRaes (Wave winding)
of 4. o 87 (progressive lap) (am) @@ TREES (wae winding)

Question ID : 2752281258
Status : Answered
Chosen Option : 1

Q.14 gaamﬁmﬁmqa;maﬁa;é?
Ans X1,

v &)

< 3

5.4

Question ID : 2752281256
Status : Answered
Chosen Option : 1




Q.15 af¥ 3-thet Alex T & R Geret ST g1t &, &t Jtex R et o woTa uzan &2
Ans J14ﬂ’TE?Z—ﬁW;rﬁﬂa?ﬁ?E‘cﬁ%,aﬁﬁ?ﬁﬂmmmaﬂ?ﬁ%ﬂﬂﬂw(winding)ﬁaﬁﬁ
AT glelt &
x 2. FYex 2-Thol AYeR &l g ToiTt 3R AT &0 ¥ i hift
/X 3. AR H R @ wereht & 3R WR B dheret 2/3 T € ag o ehell &

25 4. ex 2-Bvet & wreret @7t Atk wite o F farcher @il

Question ID : 2752281227
Status : Answered
Chosen Option : 4

Q.16 Hfr o G gemaFaglarg aifr
Ans X" 1 gaen fed -sTuHe GerRes o &
75 2. 55 g -siuved & Ie RRE T gt g
/X 3. 78 U 1 At gt
W 4. s e s seRmoia g 8

Question ID : 2752281283
Status : Answered
Chosen Option : 4

Q.17 af forelt Fpuseht a1 ufaRier 15 Q & 3R Fuse R ufdanem 25 0 &, at v=or ufdaa ghmi
Ans X" 14000

5 2100
o 3200
X 4400

Question ID : 2752281306
Status : Answered
Chosen Option : 2

Q.18 ufa thet Greferal &t ww=r & RER g &
Ans X1,

X2

X 3

v

Question ID : 2752281255
Status : Not Answered
Chosen Option : --




Q.19 Hqfed its, TR a1 3=r-Taioa s fogauafmae
Ans  of 1.

< 2

X 3.

X 4

Question ID : 2752281301
Status : Not Answered
Chosen Option : --

Q.20 W.UWh.TeA. ______ & ShRUT AU (incandescent) &g &Y sig & @ &1
Ans o 1 ST gaR i IR e SR I o e et

/X 2. 37 B St el
25 3. 37k &t Sfe et
25 4. it s Y Y gmar

Question ID : 2752281269
Status : Answered
Chosen Option : 1

_

Q.21 TA.Y. (MA) TR & URg arsd €19 (mercury vapour lamp) &Y g21feft ¢ smepfar # wafafa s @
a1 &Y g 82
Ans X" 1. arRY & geiaelal ot gt AT
/X 2. el g geagi/fgam (electrodes) & St aIfedgR 1
25 3. AforenT Y e T SR URE hl AT AT
J 4. 77 faggam (electrode) & HT s SR he .

Question ID : 2752281266
Status : Answered
Chosen Option : 1

S

Q.22 3fTUeh! Qe E1.311.Ge. (DOL) SIIR¥h o A1ea® & 512 3 %, 5 HP, 415 V, 50 Hz fisrt (squirrel
cage) URUT AR ZRT hftfa urT it AR & fog g spfler siign 81 Mk uRuy A sitga &
forg Sugeh srfter &1 TR :{

Ans X" 1.0-10 A (R-3fReh =)
o 2. 0780 AlRETIRa B
25 3,045 A (Rraia dmr)
25 4015 A (X&en )

Question ID : 2752281208
Status : Not Answered
Chosen Option : --




Q.23 3 sraaq 3-thet aferier | ara SR URT Gl & 3 FH=Td g &1 Gl & = Tist o1 T 3R

Ans

— @
51900
W 2. 120°
/X 3.360°
5 4.240°

Question ID : 2752281215
Status : Answered
Chosen Option: 1

Q.24 e farege -ufaRter AT |g (wheatstone bridge) # eRTATH (galvanometer) & & ahig oft em=r

srefRe e get & (S 3 &) 1 ot § Resaa man 2), At g www

hgl ST 21

Ans  of 1. %

/X 2. srdgfea

75 3. Tera R

p R

Question ID : 2752281276
Status : Answered
Chosen Option : 4
=== =

Q.25 3-thyt URUT Hiex WR fahg 71T Sra<g yofer adteror d fAgq R s R gan @)

Ans

of 1. a=t (windings) 7 12 R &R
X 2. 1S (cores) H witg gifaal
< 3.%018 (cores) & =T By
X 4. %1 (cores) & UE ari g1

Question ID : 2752281230
Status : Answered
Chosen Option : 1




Q.26 Which diagram is mainly used to locate the brush position in a DC armature winding?

Ans X" 1. Development diagram
x 2. End connection diagram
( 3. Sequence diagram

x 4. Ring diagram

Question ID : 2752281259
Status : Answered
Chosen Option : 4

Q.27 Qeahd-&R ulkdes (winding) &, fsforat smasger g gt 81
Ans  of 1 @il B TR 1/2

75 2. @i & g & 1/4

/X 3. @i g & sReR

75 4. @it & g B AR

Question ID : 2752281249
Status : Answered
Chosen Option: 3

Q.28 Which among the following options is one of the conditions to be satisfied before parallel
operation of an alternator?

Ans J 1. Phase sequence must be same
X 2. Rating must be same
x 3. Stator impedance must be same

x 4. Rotor impedance must be same

Question ID : 2752281240
Status : Answered
Chosen Option : 2

Q.29 9HA & THM 3{aRTeT WR ¥-HuehT dR (earth) & wfaRier @t sray AmaT ST A1fgq| 39 foig
fora &=t =1 v foma SITaT @2

Ans X1 AR
X 2. iR
W 3. @i (cauth tester)
x 4. faggq -ufete A4t g (wheatstone bridge)

Question ID : 2752281315
Status : Answered
Chosen Option : 3




Q.30 Uk ueref foweht sraurufierar w gt @, It v ______ & fRmfor & forg farar s gerar 1

Ans  off 1. fggq dae

X 2. srgdeet

75 3. Tt <t

/X 4. Es Juat

Question ID : 2752281288
Status : Answered
Chosen Option : 2
Q.31 Uah «ii2s 1.9 ursf u (shunt) #ieR Y nfa & ZR1 3 fRufRa nfa @ & fran s
TehaT &1

Ans o 1. oo uftew & iy A 9y
¥ 2. & oRwr & i A ofy
< 3. e dteear  9f
75 4. s uRuy & orT & s

Question ID : 2752281346
Status : Answered
Chosen Option : 4

Q.32 ufkonfa &t gadefod & & a5, af serg i et & wRor g ufthar gRT R o st
(stamping) f&=ma (straining) & faAT Bt 2y =it €, af uRonfas wR @ g ugm?

Ans X 1. @m aera
X 2. wamee
/X 3. % dteear srguTd
of 4. & diee gfteR AT (rating)

Question ID : 2752281243
Status : Answered
Chosen Option : 4

Q.33 AT T @ vt AEfef@a § @ e Suszor d FRrise serge v & & g frar
STt 82
Ans X' 1 ydudAaRRY werm
X 2. 7R

75 3. Rrgdufye ver &1 d.qw. (PF) Hiex
& 2 SRR @ e

Question ID : 2752281209
Status : Answered
Chosen Option : 3




Q.34 A unique feature of a wire wound resistance is its
Ans X" 1 low cost

x 2. low power rating
( 3. high stability

x 4. small size

Question ID : 2752281273
Status : Answered
Chosen Option : 2

Q.35 fhd TR & U&IUA Y E&TdT S=AH wfeh THRYH aidl 87
Ans X" 1. arg-aimiael waTH

< 2. sy v

7% 3. arg-uee v

W 4 voe vé

Question ID : 2752281265
Status : Answered
Chosen Option : 4

Q.36 uRaed (winding) & dheeit ursf, Sar ok & 1 snepfar # 2if g €, srew= € ok st owfta
fafawor & g aifdes = fAear 81 39 UaR & uRdest (winding) &t _____ gl ST 81
Ans X" 1. sjwgen g1 uRaEA (chain winding)
W 2. freT aRae (skew winding)
/X 3. 8R1ggx greeht uRaed (diamond coil winding)
75 4. et wosr uRaed (skein winding)

Question ID : 2752281253
Status : Answered
Chosen Option: 1

Q.37 Qe 3iaddeh (inverter) o fAfaif@a & @ an rf gar &2
Ans  off 1 St dicear 4t v ateedr § aewar

X 2. v, drecdian Jeg g dieedn & seerd &

75 3. uH. dteear & .. diced & seer &

75 4. Q. dieear b g €., dieed & seerar @

Question ID : 2752281285
Status : Answered
Chosen Option : 1




Q.38 Harhid his (core) i et S1fAaTs (flux) o glaT &1
Ans J 1

< 2

X 3.

< 4

Question ID : 2752281293
Status : Answered
Chosen Option : 1

Q.39 UTadl YRT ST SR.TH. QY. (R.M.S.) A9 15 mA &1 Tk 3iad J1+ /1 ghm?
Ans X1 16.5mA

o 2.135mA
/X 3.15mA
X 4.11.1mA

Question ID : 2752281296
Status : Answered
Chosen Option : 2

T

Q.40 W.%ft.uH. (PCM) haew & ford aTeres a1 vl fomar Srar &2
Ans X' 1 orfife ame

/< 2.5 AR
75 3. gegffmm & ar
of 4 am s arg

Question ID : 2752281332
Status : Answered
Chosen Option : 4

_ _
Q.41 The main cause of low power factor is

Ans x 1. the incorrect rating of controlling devices
X 2. the fluctuation of supply. voltage of the equipment
“ 3. the reactive,power in the circuit

X 4. the loose connections at the circuit termination

Question ID : 2752281299
Status : Answered
Chosen Option : 2




Q.42 The Sl unit of flux density of magnet is:
Ans X" 1 Gauss

x 2. Weber / meter

“ 3. Tesla

75 4. Lines/cm?

Question ID : 2752281292
Status : Answered
Chosen Option : 2

Q.43 3T & SR H1 3rwT T & FApT =1eT (plugs) Tt GAT I@A T T FHROT &2
Ans x 1. G0 &Y (sulphation defect) @t & & & forg

W 2. 7w v @ R & fg

/X 3. g -srawre & RifRTe 1o &t gem & forg

75 4. SmAE R A A & g

Question ID : 2752281281
Status : Answered
Chosen Option : 3

Q.44 Which of the following is an example of soft magnet?
Ans x 1. Alnico

J 2. Silicon iron

x 3. Co-steel

x 4. Tungsten steel

Question ID : 2752281287
Status : Answered
Chosen Option : 1

_— == =

Q.45 #e nifal S=Te (inching operation) &Y ____ +fY ahgt ST 81
Ans x 1. e (stopping)

o 2. 5 5% wdg (jogging)

x 3. 3RY Tl (starting)

x 4. 31g¥g AT (breaking)

Question ID : 2752281226
Status : Answered
Chosen Option : 2




Q.46 T 4 pF & 3 R Aot A R gu i R g aRa &
Ans  of 1 2pF

X 2.8pF

/X 3.4pF

X 4.16 pF

Question ID : 2752281309
Status : Answered
Chosen Option : 1

Q.47 Which of the following electrical devices CANNOT be used as a safety device?
Ans X" 1 Circuit breaker

“ 2. Earth tester

x 3. Fuse

x 4. Earth leakage circuit breaker

Question ID : 2752281317
Status : Answered
Chosen Option : 4

Q.48 Ua.£.9). o1 FA=faif@a A @ &9 a1 Ues &7 781 82
Ans X1 qedd gAmsR e E

X 2. va g E. aifder qwg ao 9o &

X 3 waid dmgdgaeiaand

o 4 Ta £ & R & i v o

Question ID : 2752281270
Status : Answered
Chosen Option : 4

Q.49 forelt &< wifaw F sieR-ya uRAeH (winding) &€ 2 @4 &2
Ans X 1. Rieheadl ga & smair SR RTdd gaar & ary Soft e §
/X 2. Preread ga & ot smeR 3R Rodia gadm & gamiaR
o 3. e fad ot omER ofk THT gyaar 3 arer Sioft g A
75 4. Figeadi ga & ot SeR SR G gadT & quHiaR

Question ID : 2752281339
Status : Answered
Chosen Option : 3




Q.50 Supply to no-volt coil in a DOL starter is maintained after releasing the start button (switch)

through .
Ans X" 1. start button

x 2. stop button
x 3. overload relay

J 4. auxiliary contact

Question ID : 2752281225
Status : Answered
Chosen Option : 3

Q.51 F=fafEa § 9w ar d@9y agh 781 82
Ans J14

< 2

X 3.

X 4

Question ID : 2752281291
Status : Answered
Chosen Option: 2

Q.52 TRUT UhR & SoitATd W) URT Gaeft ik g dhacft shmer: A g2 gd &l
Ans X" 1. aufd @ gETiaR e F R eie @ TEIR B A

75 2. oe @ Soft ghm F o agfef & Soft g &

o 3. 7rs @ ot o F iR Smgff & TR e A

/X 4. 3yl & gaEiaR o A 3R wive & Soft g A

Question ID : 2752281213
Status : Answered
Chosen Option : 3

Q.53 Wel.§.$%. (LED) okt IUThT T 82

Ans o 1. g v 3
X 2. dieear 3t P w0
75 3. g, at <l HaRsnfRd e
/X 4. ufcrehef ht ohe e

Question ID : 2752281268
Status : Answered
Chosen Option : 1




Q.54 The unit of luminous flux is

Ans X" 1. Lumen /watt

x 2. Lux

f 3. Lumen

x 4. Candela

Question ID : 2752281264
Status : Answered
Chosen Option : 2

Q.55 3-thet gferd e &, de ar & 4Ry gt e
Ans

Ko

Question ID : 2752281302
Status : Answered
Chosen Option : 2

Q.56 In which type of machine is the internal growler suitable to test the winding?

Ans

x 1. Armature of food mixer

x 2. Armature in tape recorder

( 3. AC motor stator winding

x 4. Armature in shaded pole motor

_— == =

Question ID : 2752281260
Status : Answered
Chosen Option : 1

Q.57 Equipment earthing is necessary to give protection against

Ans

x 1. voltage fluctuation

x 2. over loading

x 3. the hightemperature of the conductors

( 4. the dangerof eleetric shocks

Question ID : 2752281314
Status : Answered
Chosen Option : 2




Q.58 et dteedr & o daread &2

Ans X 1. g Geber thot SreTIdeh & @ A (lines) a1 SiaTgeRt 3 el BT oI Tt e gl 1
o 2. 75 1 A, B 1 C ok dewr e N # R dteear 21
75 3.7g A 3R B, B 3R C a1 C 3R A il & R dlteear &1
/X 4. g Ot dteear & St gAL 4RI & 9T G A g 21

Question ID : 2752281300
Status : Answered
Chosen Option : 1

Q.59 The permissible temperature rise of electrical machines is decided by the type of

Ans “ 1. insulating materials used for winding
x 2. material used for winding wire
x 3. wedges used for winding

x 4. insulating varnish used

Question ID : 2752281246
Status : Answered
Chosen Option : 1

Q.60 <Rl 9T fAae shgan & fk e g uRuy & 9t aleear fRmaet o1 g = & a_reR giar 8?
Ans X" 1. ity o i

W 2. Rt & ger fram

7% 3. et &1 vger g

75 4. 3w o P

Question ID : 2752281275
Status : Answered
Chosen Option: 3

Q.61 F=faf@a & @ o= w. . Al i e soft qa Fwar g?
Ans X" 1 grefordt i e

o 2. y@ Fr e

7< 3. o i

75 4. aiEl g

Question ID : 2752281247
Status : Answered
Chosen Option: 3




Q.62 .. s A dRa Sgn.gw. (E) I ga_____ @1

Ans x 1.

v

X 3.

X 4

Question ID : 2752281336
Status : Answered
Chosen Option : 1

Q.63 3ieR-3y@___ FfAgga gl

Ans X' 1 o §.0A.0%. (EMF) # 9 &3
X 2 A d A e
75 3. g 8 &) amed ot o e
of 4. e (commutator) TR TR (sparking) & & A

Question ID : 2752281338
Status : Answered
Chosen Option : 4

_ T

Q.64 Q& Srats #, srts & arfausa gy fomm 5o @ yenfa gt acft arrant ____ srgr wiran @)
Ans X" 1. Siftrehe SehH 4RT

/X 2. 3iftrenan @ite Rt
o 3. sfean sifta 9fg e
25 4. e sitad smifde et

Question ID : 2752281322
Status : Answered
Chosen Option : 3

_ =

Q.65 The method of charging a battery when the battery is charged at a very low rate is called

Ans X" 1. rectifier method
“ 2. trickle charge'method
x 3. congtant voltage method

x 4. constant current method

Question ID : 2752281280
Status : Answered
Chosen Option : 3




Q.66 fr=ifoee & & =ar 3-thet URoT Aiex # gufes (rotar) @t Henferd et ST Qe HRUT 2
Ans X" 1. et goff gk &
/X 2. °ufe sl (rotar bars) & Ra €.4.q%. (em)
J&@?&?(stator)aﬁiwmmﬁaﬂam%m

/X 4. Sae gufehs (rotar) gaehia &

Question ID : 2752281218
Status : Answered
Chosen Option : 3

Q.67 The thermal class and temperature for mica, glass, fibre and asbestos as per IS 1271 -
1985 is .

Ans X" 1 Class Y,90°C

o 2. Class B,130°C
/< 3.ClassE, 120°C
/X 4.Class A, 105°C

Question ID : 2752281263
Status : Answered
Chosen Option : 4

_
Q.68 For plate earthing, the thickness of the galvanised iron or steel plate should NOT be less
than .
Ans X" 1530 mm
75 2.430mm
75 3.3.30 mm

o 4.630mm

Question ID : 2752281311
Status : Answered
Chosen Option : 3

S —_

Q.69 e ATAIIGT Tt 3% ZRT G- aT9H= & SIHR aiffepd forar siar & 1| it o1 st ar af
225°C ek T ATTHTT TgT 2 Hehell &7

Ans X1 Bt
X 2. vt
o 3 ci
25 4pa

Question ID : 2752281262
Status : Answered
Chosen Option: 3




Q.70 SdfRw At Frafa & gepargard! gt 81
Ans X1 R

X 2. iy
/X 3. dieear

o 4

Question ID : 2752281233
Status : Answered
Chosen Option : 2

Q.71 wfera ufws &t H AT STt 81
Ans & 1.VA

W 2. kw

75 3.VAR

K4V

Question ID : 2752281305
Status : Answered
Chosen Option : 2

_ T

Q.72 fisit (squirrel cage) SRt #tex it gerir & T ae (slip ring) BRoT Alex & FAfor A g&g siar
F?

Ans X" 1. gufes (rotar) & RR siq-wnfid gl &
o 2. 90fe (rotar) 3-8t aRAE gRT Gl a1 & ok ©R # 81 5o gt
x 3. die &t B3t t gofes @i (rotar slots) & STel ST &
75 4. gufe (rotar) & fR® @i (slots) 81 &

Question ID : 2752281222
Status : Answered
Chosen Option : 2

Q.73 Qe 31 Sl & foIg, aaraanAes gerat (ny) FIAF g Shar gl
Ans X" 1. ST E G hH T B

5 2.10%

/X 3.20%

of 4 % @ sfemio5% o

Question ID : 2752281344
Status : Answered
Chosen Option : 4




Q.74 Which of the following is NOT an advantage of a universal motor?

Ans x 1. It can be operated on a DC and AC supply
x 2. It develops very high starting torque
x 3. The speed of the motor can be controlled by easy method of tapped field method

( 4. It can operate at very high speed and air noise is present

Question ID : 2752281232
Status : Answered
Chosen Option : 1

Q.75 3Tepfa # fRE yehR & uRRdeq (winding) &Y Z2ifar mar &2

Ans X" 1 da uRded (concentric winding)
/X 2. T uRAed (skew winding)
of 3. 7= Tgx uRaEA (skein winding)
/X 4. 81 ggx uRded (diamond winding)

Question ID : 2752281252
Status : Answered
Chosen Option : 1

Q.76 FAY-3HT 3rfler @ uRT ATUR & fAQ Ut siffaf &g @ )
Ans J1W$aﬁaﬁ?mmaﬁqmaﬁq

x 2. ari (leads) @t 3ideh! (terminals) & SiisT ATigT
75 3. el Y Sioft shm F see =Ry
/X 4. e &gt diee W R am =gy

Question ID : 2752281214
Status : Answered
Chosen Option: 2

Q.77 wmﬁmmmﬁ?ﬂwuﬁ&; (winding) dgaem______ 1
Ans X' 1. gue gachia uRuy gl @

W 2. 75 s ge oRur g 2

75 3. ATl &) TReAT S SreT X

/X 4. dH ST AR GHI STHR I el &

Question ID : 2752281349
Status : Answered
Chosen Option : 3




Q.78 What is the shape of the winding shown in the figure?

Ans J 1. Concentric winding
x 2. Mesh shaped coil winding
x 3. Basket winding

x 4. Diamond mesh shaped coil winding

Question ID : 2752281251
Status : Answered
Chosen Option : 1

Q.79 3-thol & fQRe (stator) F@i Fwud faRmua ______glar @l
Ans x 1.

v

X 3.

< 4

Question ID : 2752281254
Status : Answered
Chosen Option : 3

Q.80 F=ifaif@a # & wiv a1 Uah ques wu & smafa s a1 ey 781 87
Ans  off 1 amas & Rorg Ue gure el Wi v o H orgfer Bt 2
75 2. sideh ez fRR @l 8
7€ 3. e & fivrae & £ & SHf¥aTE R 1S TR g T

75 4. Qe STE R AN R T Gehell & STE Sideh dleedrai dh Ueh feeqd Siae dh Sasahar gidt
g

Question ID : 2752281337
Status : Answered
Chosen Option : 4

Q.81 uA.ft. (MB) WehR & URE arsq €19 (mercury vapour lamp) & I=T a1 gTel WR i e
2l

Ans X" 1.3 10 seHEIfERIR
75 2.2 @40 AR
/X 3. 4810 sreAf@RR
of 4530 sifRRR

Question ID : 2752281267
Status : Answered
Chosen Option: 1




Q.82 e wdf gerd (slip ring) TRoT Hiex &Y Faia & guieh (rotar) uferte sifdes gtar g, at |
Ans o 1. 2fR qorich gt 8, R et & ok e Fear &

2 2. 1T ouTich TeaT &, T Tedt § 3R el sger &

25 3. 1Tk uTich ST 8, ¥RT Sget @ SR sremgf Tear @

75 4. b TUTih ST &, T Tt & SR aremmgof wga @

Question ID : 2752281229
Status : Answered
Chosen Option : 2

Q.83 uRde (winding) & SiaRTel T[UTich <l TUT et T T AT 87
Ans x 1.

< 2

X 3.

v

Question ID : 2752281250
Status : Answered
Chosen Option : 3

_ T

Q.84 At AUz A9 (sign lamp) & ¥R Ffaf@a § 9 fore ged w= Rk &=t 82
Ans X" 1. frenr &

75 2. Afreh & ead
o 3. R & e
/X 4. ferent & amehR

Question ID : 2752281271
Status : Answered
Chosen Option : 2

_ =

Q.85 Qeh SiiFaTS g, U1.gH. WoTTelt #, §& uonet (mains) @ ded A uRadaswrama _____ 21
Ans X" 118 milli sec

x 2. 10 milli sec
Vs
x 4.9 milli'sec

Question ID : 2752281282
Status : Answered
Chosen Option : 4




Q.86 ST & IR o T gl ST 8?7
Ans X‘IW

/X 2. wHy @R

/X 3. smm

o 4 Tty

Question ID : 2752281297
Status : Answered
Chosen Option : 4

Q.87 %1 sifer &t Rrege qerar ______ grer gufh sveft &1
Ans x 1.

X 2

X 3

v

Question ID : 2752281343
Status : Answered
Chosen Option : 1

_ T

Q.88 Herhia atgeh a1 (MMF) il grrE aam &2
Ans X 1 AR/ Hie?

X 2. wedeR / &

o 3 TR o=

p R

Question ID : 2752281290
Status : Answered
Chosen Option : 2

_ ==

Q.89 The single phasing preventer is specially designed for

Ans x 1. under-voltage protection
X 2. overvoltage protection
( 3. unbalanged,yoltage protection

X 4. navoltage protection

Question ID : 2752281231
Status : Answered
Chosen Option: 1




Q.90 F=fafaa & @ frge vl ft.adft.oq. (PCM) iwiF dhaew & fag A= & wu F forar srar &2

Ans X1 Gur
p A
of 3. oiferfs

p R

Question ID : 2752281331
Status : Answered
Chosen Option : 4

Q.91 3iF-aTesh & wU & fhe aea o1 v favar sirar 8?2
Ans X' 1 gegffom

o 2. Rt

X 3=

/X 4. dfa

Question ID : 2752281319
Status : Answered
Chosen Option : 2

T

Q.92 Uah Seunfeiia gt aRay & 1

Ans X' 1 dicear aRT @ s g @
75 2. R dieed & ar St # g @
o 3. urr e & o B 2
X 4. aveear wmr & @ e A gl 2

Question ID : 2752281310
Status : Answered
Chosen Option : 4

_ _
Q.93 uielifaATse aiR1ss Qeh ___ aIgeieh (polymer) &1
Ans X" 1 @ 9Ra (thermo induced)
x 2. ITU3A (thermoelectric)

“ 3. drugued (thermoplastic)
x 4. arETiaehid (thermodynamic)

Question ID : 2752281326
Status : Answered
Chosen Option : 3




Q.94 3-thet Aiex ol ST Hieh =y fovam SiTen @ a9 geeh! SR Y T (Fre) foheht gieht 82 w1ar 5@
<} =y foma srar @2

Ans X 1 qofd: efte gRT &Y 1@ 3T
o 2 oofa de aRT R 5 @ 8 T
/X 3. gofa: ofts aRI &t 3@ 4
75 4. qofa: sig arT & 10 @ 12 T

Question ID : 2752281223
Status : Answered
Chosen Option: 3

Q.95 Prafafaa & @ Rrad affie vae gada &= g 22
Ans X" 1. o Uit arelt AR et

X 2. AR e v

W 3. e e & 9R ok & i areht AR greeht

75 4. ge T areh) AR dreeht

Question ID : 2752281350
Status : Answered
Chosen Option: 3

Q.96 &%, #fi= & frg wm A §.99.uw. (EMF) 9fka giar 82
Ans X 1. g (Yoke)

X 2. sAfafHae (commutator)

/X 3. &5 uRaeA (Field winding)

J 4. MR gRdeA (Armature winding)

Question ID : 2752281340
Status : Answered
Chosen Option: 1

Q.97 freh ulRuy & tRerea we <A & fog AafafEa & @ frgesr ot forar siar &2
Ans X1 iRty

o 2.9
/X 3. uia
5 4 T

Question ID : 2752281295
Status : Answered
Chosen Option: 3




Q.98 Testing of a wiring installation for insulation resistance is done to ensure that

Ans x 1. all conductors have high ohmic value in the circuit
x 2. live and neutral conductors in the installation are continuous
( 3. leakage current beyond the stipulated value does not flow to the earth

x 4. all outlet points are earthed properly to the ground

Question ID : 2752281330
Status : Answered
Chosen Option : 2

Q.99 gt Prifie e ot & R TR & sreits a1 st R o &2
Ans X" 1 veRier Iesieh STte

7% 2. g, (PN) Sfaer grite

/X 3. @ sEE

o 4 SReEs

Question ID : 2752281323
Status : Answered
Chosen Option : 2

Q.100 CTs are classified into five types. Which type of CT principle is used in clip on or clamp on
ammeter?

Ans X" 1. Drytype CT
X 2. Wound type CT

x 3. Oil immersed CT

J 4. Ring type CT

Question ID : 2752281354
Status : Answered
Chosen Option : 2

Q.101 ifer =T i ard-foatns vonet &, Pfa St e gt
Ans X" 1 dgeh HieR

75 2. s uy (shunt)#ie

o 3. 9us = AsTRRAR

75 4. sEe B HieX

Question ID : 2752281348
Status : Answered
Chosen Option : 2




Q.102 f=fofEa & @ fond 3-thet IR Atex & areafaes wf wgt ST 82
Ans X" 1. @R (stator) i i

JZ.W(rotar)EﬁlT%

x 3. gufer (rotar) # Ia4 Sif¥rarg (flux) & oifa

Question ID : 2752281219
Status : Answered
Chosen Option : 3

Q.103 7 fier & & @ faed 9 Farer v 33 gt g1 2
Ans X" 1 3gfi, dide sidh (terminals), ATaeh SFadd, e
/X 2. Githe siqe, Jaf, f@m
x 3. W (range) T (selector) &g, Gt &1 TR, SR
J 4. Tidhe 3ida (terminals), TR (range) 9 (selector) &9, 9 3R Tchdes

Question ID : 2752281216
Status : Answered
Chosen Option : 4

Q.104 R (stator) Yarehra &= & gof= Ay Ram
Ans X' 1. fRRe uRAEA (stator winding) & TR
o 2. smafi & St orgeE
75 3. gofeh (rotar) 6 FRARY
/X 4. Iy & deedn

R Ak et 21

T

Question ID : 2752281217
Status : Answered
Chosen Option : 4

_ =

Q.105 U UaTaedeh & Frfaar ar _____ # srgAdieed (rated) R stram 1
Ans &1 KW

X 2.HP
75 3.BHP
o 4 ke

Question ID : 2752281239
Status : Answered
Chosen Option : 1




Q.106 For small transformers, the inter layer insulation is

Ans “ 1. butter paper

x 2. press paper
x 3. milinex paper
x 4. leatheroid paper

Question ID : 2752281242
Status : Answered
Chosen Option : 4

Q.107 A good conducting material is:

Ans J 1. silver
x 2. carbon
X 3. cotton

x 4. porcelain
Question ID : 2752281272
Status : Answered
Chosen Option : 1
== _
Q.108 Qeh Yehel afeHiex ht vl 3-Uhet HuTrett # 21f*h ekt ATu= & forg asft fohan s aehar @ sia wite
— @&

Ans ( 1. 9gfa

75 2. sreigfaa

75 3. igferd 8 & @y ary or-ggferd off

X 4R

Question ID : 2752281303
Status : Answered
Chosen Option : 3

Q.109aﬁwmﬁuwm%%qﬁqum__;agamﬁmiﬂ?hél
Ans X' 1 frgq A

/X 2. dieearn

5 3.af%

o 4 ofRier

Question ID : 2752281274
Status : Answered
Chosen Option : 4




Q.110 Qeh &R Haifod, 3-thet aRuy &Y 5ot 9RT 100 A 81 #1571 aRT ____ it
Ans  of 1 100A

X 2.578A

/X 3.173A

/X 4.300A

Question ID : 2752281228
Status : Answered
Chosen Option: 2

Q.111 The formula for calculating inductive reactance of an inductor is

Ans Xl

Question ID : 2752281298
Status : Answered
Chosen Option : 2

Q.112 fFafaf@a 7 @ 1 a1 uawor g.3ft. sk .4, g1 7 ua afesfier & & d Hreagds
Tarferd giar 82

Ans o 1 sfRFudt SuaRor
/X 2. fgrga . (PMMC) Iueor
ZX 3. 7H.3ME. (MI) Sueor

/X 4. 9@ R SuaRoT

Question ID : 2752281207
Status : Answered
Chosen Option : 2

_ _—
Q.113 The application of stepper motor is in

Ans J 1. fax machines

x 2. coil winders
x 3. compressors
x 4. lifts and hoists

Question ID : 2752281234
Status : Answered
Chosen Option : 4




Q.114 o guf &% REear, ta sarashia g. . gieear ol ga wefta €. gieear & uRafda w=ar
21 smgfd smgfa & deof A guhl fnfa smgf aran ghfi?

Ans X 1. aqfd sl & armelt
25 2. myfd armgfRy & i T
/X 3. gl g & wReR
o 4. e smaf 0 v

Question ID : 2752281325
Status : Answered
Chosen Option : 1

Q.115
Ans J 1. I=arft uRonfA= (step up transformer)

x 2. @ gRonfa (auto transformer)
X 3. U=t gikonfas (step down transformer)
x 4. g1 aRonfaF (current transformer)

Question ID : 2752281353
Status : Answered
Chosen Option : 4

Q.116 dteear & de¥f &, IR0 (inductive) URTR URT_______ g1 &1 X
Ans x 1. thot & &R
X 2. s
o 3. oz
X 4 o A
Question ID : 2752281308
Status : Answered
Chosen Option : 4
= =

Q.117 foreft ar i dans o1 wfaRter 4 0 81 3 wrwft oiiR SrgyRY wie aret Ueh o= aR o1 ufaRty @
ghm, St 599 o= 1T e 82

Ans X180
X 2.240
W 3120
X 260

Question ID : 2752281277
Status : Answered
Chosen Option : 4




Q.118 fnft Irwft & ufa gors Saher A aifYarg (flux) & & S & ST SIan @
Ans  off 1. aifare (flux) &

X 2 ufs

/X 3. iz argen s (MMF)

X 4. e ge g

Question ID : 2752281289
Status : Answered
Chosen Option : 4

Q.119 €.+, ursf u (shunt) AR P fa T aRFeT FA I I _____ 1
Ans J 1

< 2

X 3.

X 4

Question ID : 2752281341
Status : Not Answered
Chosen Option : --

_ T

Q.120 T uehR &t #iex & srdarepd ARTe! SR aemeef ghar 82
Ans X" 1 e amer IROT e Hie

/X 2. G s Getfe wrer Hex
75 3. g wie
of 4. ofRer amst kot ATe T

Question ID : 2752281235
Status : Answered
Chosen Option : 1

_ =

Q.121 What is the working principle of a two-winding transformer?

Ans J 1. Mutual induction
X 2. Principle of BC motor
x 3. Lenz's Law.
X 4. Self-induction

Question ID : 2752281352
Status : Answered
Chosen Option : 4




Q.122 geashifore Atexl &, goff AR (stator) sif¥arg (flux) 3187 37k ok (rotar) sif¥rars (flux) srer
spal & sfi o YT ) STt HoT gt SITaT 81 fRAR die & g1y ge areft geaemfoie Aie @t
STTA2 (excitation) FG UR sraATgOf ST I

Ans X 1. S ) Se
(z‘wgﬁm
X 3.7
X 4 Rrm

Question ID : 2752281241
Status : Answered
Chosen Option : 3

Q.123 fA=fafEa d @ &9 @ Ay arrft o B A= @ Sdifda g2
Ans X 1 U

x 2. faferepra ucTeIere (elastomer)

W 3 o
X 4 dcigE I

Question ID : 2752281245
Status : Answered
Chosen Option : 2

===

Q.124 As per IEE regulations, green and yellow (combination) colour cores of flexible cables are
recommended for .

Ans X 1. phase

( 2. protective earth

X 3. positive of DC 3 wire

x 4. neutral

Question ID : 2752281313
Status : Answered
Chosen Option : 4

Q.125 3-thot IRUT AR & Aafaf@a siffeea (design) @it & @ &l T1 g Aler & w0 d dgar
gard?

Ans X' 1 @B
X 2.afp
of 3.iC
75 aaiD

Question ID : 2752281220

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.126 fordt =TeTen <ht ufaRterehdr S9h/<ht
Ans &K1 srae

o 2 ammft
/X 3.
/X 4. IIRY e & Bthe

R AR et 21

Question ID : 2752281279
Status : Answered
Chosen Option : 4

Q.127 smueht Qe faege afers (electric locomotive) &t TR Htex it a&er=T &1 319 fhd U &Y Al
T

Ans x 1. Tl ¥g<h (cumulative compound) €8, #iex
75 2. @& wrafuy (shunt) R

o 3 S sjEer A
75 4. a9 dg=s (differential compound) €&, Hiex

Question ID : 2752281342
Status : Not Answered
Chosen Option : --

Q.128 Uk ufkde= (winding) #, afé ufa thet dreforaicht e saf & gm 6 T & w®ER &, ar 59
__ chgrwEr gl

Ans X 1. wiof g e
o 2. o Gach writer
/X 3. wgfera uRaed (winding)
x 4. rgferd ufaed (winding)

Question ID : 2752281248
Status : Answered
Chosen Option : 3

S

Q.129 sifherrs= g.4t.q9. (UPS) &t gervit 7 Sifeirs= .99, (UPS) T ol &1 82
Ans X" 1 sifesa g A gE. (UPS) fRR fivfe amgfa a1 &
75 2. 3iferg gMgE. (UPS) Teher-thet a1 3-Thet STYfT OR &1 eheell &
o 3. siffemegiioa. (UPS) uRad ok srawiaR (transition) TFeTail & ok gl &
75 4. Sitaee g d.ga. (UPS) R g, Frfe ot emyfef aar @

Question ID : 2752281284

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.130 7ifemT= dig R hrd=e= ______ wR anenmRa glar @1

Ans

W 1. g gedia wma
/X 2. Rigd ey
/X 3. gl g

X 4. oy

Question ID : 2752281205
Status : Answered
Chosen Option : 3

Q.131 uRae= (winding) & fArT gl Y s areft Aew Tmfiat st araaE 6 ges faie dar g

Ans

/X 1.90°C

75 2.130°C
/X 3.105°C
o 4.120°C

e A IR &HET & HHR aifigra v SiTen @1 o E e o1 Siferas QR arowr oram §?

Question ID : 2752281244

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.132 fi.&. s A dRa §.un.uw. (EMF) _____ gr1 fAaBa gar i

Ans X" 1. g g Richedt & @ 1 e
X 2. B2 3 R e SRon b g P
o 3. 812 & g e IRor & vgd Fram
¥ 4. 3w 3 Fram
Question ID : 2752281335
Status : Answered
Chosen Option : 2
-_

Q.133 <Hsieh 'HT8 dteedT &1 T ofef &2

Ans

o 1. 75 1 A vd BB wd C LC wE A R ez 21

/X 2. 98 g-HudhT AR (earth) iR et geh @i1g & aer ateedr &1
75 3. Ry Rieeti & @ S

/X 4. 9g %A, B a1 C 3R deey =reieh N & R dieed 81

Question ID : 2752281304
Status : Answered
Chosen Option: 2




Q.134 Ues yeaTacda w1 A 3@ gri veffa férar sran @1
Ans x 1.

< 2

v &3

X 4

Question ID : 2752281238
Status : Answered
Chosen Option : 3

Q.135 Contractors are generally

Ans x 1. main controlled switches

x 2. centre tap switches
( 3. electrically controlled switches

x 4. mechanically controlled switches

Question ID : 2752281224
Status : Answered
Chosen Option : 1

Q.136 glRmToT 3R fE2m Y Aea A & g ueamadf arrei ok aivedarsil &t ik & R areft v
Heft 3@ R =20fTT SITAT 81 39 fAFUT St T et ST 87

Ans X1 arferaif
X 2. yared
75 3. WA aR
W 4 sRa R

Question ID : 2752281294
Status : Answered
Chosen Option : 4

_ —

Q.137 What is the permissible voltage drop of 240 V AC supply?
Ans X" 1t should not be more than 9.6\

x 2. It should not be more than 10 V
J 3. It should net bexmore than 12 V

x 4. It should not be more than 7.2 V

Question ID : 2752281329
Status : Not Answered
Chosen Option : --




Q.138 The speed of a DC motor can be controlled by varying:
Ans X" 1. the applied voltage

( 2. All of the given options

x 3. its flux per pole

x 4. the resistance of the armature circuits

Question ID : 2752281345
Status : Answered
Chosen Option: 3

Q.139 Tk TIfaHTH g SuehvoT 1 fagtgor gemgof % Udsid: ATIUTd! giat &1
Ans X" 1 RT3 arfee
o 2 s E

X 3.am

75 4. dreear

Question ID : 2752281206
Status : Answered
Chosen Option : 1

Q.140 yuf a7 REwr & usie sz @ varfad g are sitaa urT a1 8?
Ans X" 1. dire U T ofted A

7K 2. ofs uRT & Sfd A1 &1 QAT

o 3. 7S a3 ot W & amen

75 4. <ire a1 & Sfad 7T o Geh- Hd

Question ID : 2752281324
Status : Answered
Chosen Option: 1

Q.141 Which of the following places is used for the plate electrode earthing?
Ans x 1. Building

x 2. Computer room
J 3. Generating,station

x 4. Electrical appliance

Question ID : 2752281312
Status : Answered
Chosen Option : 4




Q.142 Which type of rotor is used in slip ring induction motor?
Ans X" 1. Double cage motor

x 2. Single cage rotor
“ 3. Wound rotor

x 4. Deep bar cage motor

Question ID : 2752281221
Status : Answered
Chosen Option: 1

Q.143 = g areft €4 afi9 = gl T T g &1
Ans 1 dide

75 2. gegffam

o 3.zt s

X 4.7 gy e

Question ID : 2752281333
Status : Answered
Chosen Option: 3

Q.144 Which cable is used as a machine cable?
Ans x 1. Armored cable

J 2. Lead shielded cable
x 3. Tropodure cable
75 4.PVC cable

Question ID : 2752281328
Status : Answered
Chosen Option : 4

_— == =

Q.145 In an alternator, the voltage induced in the armature conductors will be
Ans X" 1 oscillating

/X 2.0C
W 3.AC

x 4. pulsating DC

Question ID : 2752281236
Status : Answered
Chosen Option : 3




Q.146 freft +ft georer-thar ulRonfas &, mufAe ok Ffaam dRaatear _______ &t &
Ans X" 1. e farvie ofte 3 2ifRh TUTieh 0R F9R ahear @

/X 2. BT @ ETER 90°

o 3 o d

75 4. Bt @ aTeR 180°

Question ID : 2752281351
Status : Answered
Chosen Option : 1

Q.147 N UhR & 31-aTeieh ol fAfifa &=t o forg sizgar & = # foher aea o1 vt fova stram 82
Ans X' 1 @R

X 2. vegfafam

/X 3.fem

o 4 P

Question ID : 2752281320
Status : Answered
Chosen Option : 4

_ T

Q.148 What type of wire is suitable for wiring a fire alarm system?

Ans J 1. Mineral Insulated Copper Cable (MICC)
X 2. Flexible cable
x 3. Rubber insulated cable
75 4.PVC cable

Question ID : 2752281278
Status : Answered
Chosen Option: 1

Q.149 fFafaf@«a 7 @ o= e Jadhia As-urg 8?2
Ans X 1. it serd

X 2 vt

/X 3. e 3@

W 2 e

Question ID : 2752281286
Status : Answered
Chosen Option : 4




Q.150 -uif&r (earth tester) T waRT Y- fregary ufediy &t A= 3 forg forar e & e sea=
A3t T uRT IsFHS gR1 O 7 uRafda frar srar g1 wfaRty arae & g gt sgfed o

TRANT e T ShIROT T 87
Ans X 1. g1 ufcRter 1.3, Ufe”ty & ifde giar g
/X 2. g, &1 R @y v H wefer gl
X 3. Q.. # 7 997 (sine wave) @FU g1 8§
o 4. R sraeh £ gH.aw. (EMF) & &R0t 81 arelt 3R &) & g

Question ID : 2752281316
Status : Not Answered
Chosen Option : --

Section : General Hindi and General Knowledge and Reasoning

Q.1 # R ITal g1 arer A v foraT &
Ans X" 1 g fear

75 2. g fewa

75 3. SRomefe R

o 4 Tt R

Question ID : 2752281362
Status : Answered
Chosen Option : 4

Q.2 R 921 g1 - JgTer o1 31 &:
Ans X" 1 sref o ST

X 2. g

of 3 damfg

/X 4. Rrger w g

Question ID : 2752281369
Status : Answered
Chosen Option : 2

Q.3 'ﬁa—ﬁ#am@wa;;ﬁaﬁﬁ—:mmzﬁﬁrq:
Ans X 1. qTeTE - e

X 2. gRER- g

5 3 udred

W 2 - i

Question ID : 2752281365
Status : Answered
Chosen Option: 3




Q.4 3[F 2 1 99+ hIfAg:
Ans X1 vare

o 2. arenfia

75 3.7

X 4w

Question ID : 2752281367
Status : Answered
Chosen Option: 2

Q.5 ‘@F d g R war &1 e J ugh I o1 9 @
Ans X' 1. g9 qovETad: GdAH

/X 2. 37 qRvaTs gdAH

\{3 SffeTaTTreh ga-TH

/X 4. Geuaraes g

Question ID : 2752281360
Status : Answered
Chosen Option : 3

_ T

Q.6 fF=fafae o aga 2res g 7 9 @i a1 e o1 87
Ans X" 1. aifer - s

75 2. ifeer - e

o 3 w7 -@@

X 4wm-Tg

Question ID : 2752281357
Status : Answered
Chosen Option : 2

Q.7 I 9T A AT IUTHT F T T 8?
Ans X" 1 g
/X 2. arfe

75 3. amrRor

o 4 smEEe

Question ID : 2752281355
Status : Answered
Chosen Option : 4




Q.8 ‘foud urd Fo 7 gt srufq aRy’ arari=r & fog U ez &:
Ans X1 gl

o 2

75 3. g

X 4 a9

Question ID : 2752281366
Status : Answered
Chosen Option : 1

Q.9 fH 2rez &1 I AT T 7T 87
Ans ( 1 arai=g - g

X 2. aere - wpfd

X 3.3R -

/X 43| - e

Question ID : 2752281364
Status : Answered
Chosen Option : 4

_ T

Q.10 U T =R e = - & forg sRa geavr &:
Ans K" 1. S 3T

o 2. s & aren e

75 3. ST SR
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